
SECTION 3/4"=1'-0A
S200

SECTION 3/4"=1'-0S200
D

SECTION 3/4"=1'-0S200
B

<N> L4x4x 1/4" x CONT GALV
PILASTER REINFORCING FASTENED

PL 4"x 4"x 3/4" BASE PLATE W/ 13/16" Ø
HOLE FOR 3/4" Ø S.S. THREADED ROD
ANCHOR EPOXY SET 4" MIN INTO <E>
FND

<N> PL 5"x 3/16"x CONT GALVANIZED
PILASTER REINFORCING -TYP

(2) 1/4" Ø S.S. HILTI KWIK-CON II @ 12"
IN 5/16" Ø HOLES IN PLATE -TYP

INTERIOR

EXTERIOR

BEND PLATE 3" @ BOTTOM AND KEY
INTO BRICK -TYP

(2) 1/4" Ø S.S. HILTI KWIK-CON II @ 12"
IN 5/16" Ø HOLES IN ANGLE -TYP

 #4 C-BARS VERT @ EDGES TO MATCH
HORIZ REINFORCING -TYP

#4 J-BARS TOP TO BOT @ 24" -TYP

(6) 7/8" Ø x 1'-10" HEADED ANCHOR RODS
W/ 4" PROJECTION (ASTM F1554, GRADE
55, W/ WELDABLE SUPPLEMENT) -TYP @
ALL BRACE COLUMNS

(4) MATS OF #5 @ 12" EACH WAY -TYP

DOWEL <E> FOOTING TO <E> FND
WALL W/ (2) #5 x 3'-4" DOWELS @ 24"
EPOXY SET 6" MIN INTO EXISTING
-TYP

<E> FND/ MASONRY WALL TO REMAIN
-TYP

1" +/- GROUT -TYP

PL 3/4" x 1'-0" x 2'-3" W/ (6) 1" Ø HOLES FOR
7/8" Ø ANCHOR RODS -TYP @ W12 BRACE
COLUMNS

W12x53 BRACE COLUMN

HSS8x8x 1/4" BRACE

<N> 6'-0" x 6'-0" x 4'-0" DEEP FOOTING
-TYP @ <N> BRACE COLUMN LOCATIONS,
SEE PLAN

SECTION 3/4"=1'-0E
S200

PL 3/8" x 10" SQ GALV EACH SIDE OF
WALL/ PILASTER W/ 11/16" Ø HOLES FOR
5/8" Ø THROUGH BOLTS -TYP @ CANOPY
TENSION RODS

3/4" Ø GALV CANOPY TENSION ROD W/
THREADED END @ 45° MIN, MAKE
ADJUSTMENTS W/ THREADED CLEVIS
AS NEEDED -TYP

PL 1/2" GALV FIN PLATE

<E> REINFORCED HIGH ROOF TRUSS

<N> 3/8" PL EACH SIDE OF TRUSS W/
13/16" Ø HOLES FOR 3/4" Ø THROUGH
BOLTS -TYP @ <N> CABLE BRACING @
TRUSS ENDS

(12) 3/4" Ø THROUGH BOLTS -TYP

4" x 1" PL THROUGH SLOT IN SIDE PLATES

1"Ø 55K CAPACITY CABLE BRACING W/
TURNBUCKLE FOR TIGHTENING -TYP

5/16

5/16

5/16

2'-3"

6" 6" 6" 6" 1 1/2"
-TYP. UNO

9
"

2
 1

/
2
"

4
"

2
 1

/
2
"

4
 1

/
2
"

2
 1

/
2
"

4
 1

/
2
"

4"3 1/2"

1
"

4
"

8"4" 7 1/2"

3/8" PL

3/8" PL

CABLE CLEVIS SOCKET W/ PIN TO 1"  FIN PL

4
 3

/
4
"

8"

8" WIDE x 1" THICK FIN PL W/ 1 1/4" Ø HOLE
FOR CLEVIS, VERIFY W/ MANUFACTURER

5/16

5/16

5/16

PLAN VIEW

PL 3/8" x 10"x18" GALV PLATE @ EACH
PILASTER W/ (4) 11/16" Ø HOLES FOR (4)
5/8" Ø THROUGH BOLTS -TYP @ CANOPY
CHANNEL LEDGER ATTACHMENT

PL 1/2" GALV FIN PLATE

FLASHING / FINISHES - SEE
ARCHITECTURAL PLANS - TYP.

8" RIM CHANNEL PER
PLAN

8" CHANNEL PER PLAN @ ROD
ATTACHMENT

6" LIGHT GAUGE RAFTERS PER PLAN
ATTACHED W/ 18 GAUGE CLIPS W/ P.A.F.
TO CHANNEL - TYP.

1/4" SHEAR TAB W/ (2)
3/4"Ø A325 BOLTS - TYP.
@ CHANNELS TO ROD
ATTACHMENT.

3/16

5/8" SHEATHING SEE
GENERAL NOTES - TYP.

1/4

VERIFY DEPTH OF (E) FOUNDATION IN
FIELD - TYP.

PLAN VIEW @
SIMILAR

1" THICK PLATE @
CABLE BRACING
CONNECTION - VERIFY
PLATE THICKNESS /
PIN ATTACHMENT &
SIZE WITH CHOSEN
CLEVIS SHACKLE -TYP

S200
C 3/4"=1'-0SECTION

ABU66Z POSE BASE W/ 5/8"Ø X 10"
GALV. TITEN-HD -TYP. @ P.T. 6X6

BF24 BIG FOOT
FOOTING FORM

4
'-
0
" 

M
IN

. 
-T

Y
P

(3) #4 DOWELS INTO
FOOTING

10" Ø CONC. PIER

(2) 2X10 P.T. RIM BEAM -TYP.

2X8 P.T. CONTINUOUS RIM

(2) 5/8"Ø GALV CARRIAGE BOLTS AT
RIM BEAM TO POST CONNECTION - TYP

FINISH FACE BOARD - SEE ARCH

2X10 PT LEDGER FASTENED TO
(E) MASONRY WALL W/ (2) 5/8"Ø
THREADED ROD @ 32" O.C.
EPOXY SET 8" INTO (E) MASONRY
WALL

HANGERS PER
PLAN - TYP.

(E) MASONRY WALL PER
PLAN

PT BEARING BLOCKING
FOR DECKING AS NEEDED
AT POSTS

DECKING - SEE ARCH

2X10 P.T. JOIST PER PLAN

6X6 P.T POST - TYP.

RAILING - SEE ARCH

PROGRESS ONLY

NOT FOR CONSTRUCTIO
N

D
R
A
W

N
 
B
Y

S
H

E
E
T
 
T
I
T
L
E

I
S
S
U

E
 
D

A
T
E

S
H

E
E
T
 
S
C
A
L
E

C
O

P
Y
R
I
G

H
T
:
 
R
e
u
s
e
 
o
r
 
r
e
p
r
o
d
u
c
t
i
o
n
 
o
f
 
t
h
e
 
c
o
n
t
e
n
t
s
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t
 
i
s
 
n
o
t
 
p
e
r
m

i
t
t
e
d
 
w

i
t
h
o
u
t
 
w

r
i
t
t
e
n
 
p
e
r
m

i
s
s
i
o
n
 
o
f
 
S
t
r
u
c
t
u
r
a
l
 
I
n
t
e
g
r
i
t
y
 
C
o
n
s
u
l
t
i
n
g
 
E
n
g
i
n
e
e
r
s
 
I
n
c
.

0
7

/
2

7
/

2
0

1
6

J
C

S

P
R
O

J
E
C
T
 
N

O
.

P
R
O

J
E
C
T
 
N

A
M

E

1
5

-
0

2
2

2

B
R

I
C

K
 
S

O
U

T
H

,
 
T
H

O
M

P
S

O
N

'
S

 
P

O
I
N

T

P
o

r
t
l
a
n

d
,
 
M

a
i
n

e

3
/

4
"
=

1
'
-
0

"

S
E
C

T
I
O

N
S

S200

AutoCAD SHX Text
July 27th, 2016


